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[bookmark: OLE_LINK6][bookmark: OLE_LINK7]CSSE 374 – Software Design 
Quiz 14
1. [bookmark: OLE_LINK1][bookmark: OLE_LINK2]Briefly, what problem does the Abstract Factory pattern solve?

2. Briefly, what solution does the Abstract Factory pattern suggest?


3. True/False (circle one): By using a factory method to generate an Abstract Factory instance, rather than hard coding the device vendor, we can configure the family of devices used without recompiling the system.

4. Both of the following design decisions might be reasonable, but which one would be suggested by the “do it myself” guideline.
· Having RentableItem implement a returnItem() method.
· Having Customer implement a returnItem() method.
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5. [bookmark: OLE_LINK3][bookmark: OLE_LINK5]Briefly, what problem does the Template Method pattern solve?


6. Briefly, what solution does the Template Method pattern suggest?



7. List something (if anything) that became clear to you as a result of studying for today's class. Write None or N/A otherwise, so we know you gave it some thought.  (Completely blank answers to feedback questions like this will receive 0 credit!)
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